
DO 2 I=1,N                                                        

DO 3 I=2,N                                                        

"SUBROUTINE SICOT(F,M,H,X0) "

"IF(M.EQ.0)"

THEN

"IF(H.LE.0.0 .OR. X0.LT.0.0)"

ELSE

1
RETURN

"IF(X0.GT.H/16.0)
 C = EXP(-H/X0) "

ELSE

"9"

"IF(H.LE.0.0)
 WRITE(6,10) H "

"IF(X0.LT.0.0)
 WRITE(6,11) X0 "

THEN GOTO

"IF(I.LT.N)
 F(I) = F(I)+F(I+1) "

"IF(S.EQ.1.0)"

ELSE

"1"

THEN GOTO

"2"

"3"

"CALL SINTR(F,MSIGN,H) "

9
RETURN

11
STOP

                                                             

END


